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If f(x):(.r—l)(x2+2)3, then f'(x)=

(A) 6x(x? +2)
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Let f be the function defimed above. Which of the following statements about f are true?
I. f hasa ot at v =2, \/
H. f is continuous at x=2. X

IIL. f 1s differentiable at x = 2/(
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(B) II only

(C) I only

(D) I and II only

(E) L 11, and III
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If f(x)=x"+2x, then :x( f{lnx))=
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In the xy-plane, the line x+ y =k, where k is a constant, is tangent to the graph of
y =x* +3x+1. What is the value of & ?
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Let f be the function defined above. where ¢ and 4 are constants. If f is differentiable at
x =2, what is the value of ¢ +d?
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The figure above shows the graph of a function f with domain 0<x <4, /&lnch of the
following statements are true?

L lim f(x) exists, v
II. l'mZ}f(x) exists. l/
IL ﬁn%f(x) exists. 2<
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The graph of the derivative of a function f is shown in the figure above. The graph has

horizontal tangent lines at x =—1, x=1, and x =3. At which of the following values of x

does f have a relative maxmum?

(A) -2 only

(B)1
{C) 4 only

(D) —-1 and 3 only
(E) -2.1. and 4
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12) Determine the slope of the line that would be normal (perpendicular) to the function
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Graph of f

The graph of a function f is shown above. At which value of x is f continuous, but not differentiable?
Wa NBE  ©c Md @e —



14)

_ 2 dy _ . 2
fy=x sm2x,then2;—— &’XOS\(\ LZ-X) A Ko oS LK e a

(A) 2xcos2x
(B) 4xcos2x oL (Sw\ (zy) Tt X cos (_?_X))
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(D) 2x(sin 2x — x cos 2x)
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Let f be the function given above. Which of the foilowmg statements are true about f ?
L lim f(x) exists.
x=33 _
Il. f iscontinuousatx =3.
IL. f is differentiable at x = 3. . | S |
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Let f be the function with derivative given by f'(x} = sm(x + 1) How many relative extrema does f have
ontheinterval 2 < x < 47

(A) One (B) Two (C) Three @ (E) Five
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Let f be a differentiable function with f(2) = 3 and f’(2) = -5, and let g be the function defined by
g(x) = xf(x). Which of the following is an equation of the line tangent to the graph of g at the point where

x=27
(A) y=3x F ‘._t-.__ (&|3>
B) y-3=-5(x-2)
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